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Vector' is synchronized. If a thread-safe implementation is not needed, it is recommended to
se [‘ArrayList](https://docs.oracle.com/javase/8/docs/api/java/util/ArrayList.ntml) in place of
Vector’
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private void grow(int minCapacity) {
// overflow-conscious code
int oldCapacity = elementData.length;
int newCapacity = oldCapacity + ((capacitylncrement > 0) ?
capacitylncrement : oldCapacity);
if (newCapacity - minCapacity < 0)
newCapacity = minCapacity;
if (newCapacity - MAX_ARRAY _SIZE > 0)
newCapacity = hugeCapacity(minCapacity);
elementData = Arrays.copyOf(elementData, newCapacity);

}
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